K.C.S.E. MATHEMATICS

PAPER 121/1 2000

SOLUTION MARKS ALTERNATIVE METHODS |
. 28+18  15-12
__+2 ~ g Mi Removal of each bracket
=231 Mi Removal of denominators
oy ¥ | Al
3 marks
2. 3a+b){a+b
gda—b;§a+b; M1 Nummmrﬁsmm
la+b M1 Demoninator factorised
= Al
da-9 3 marks
aB= 2% 08 BI
3 () zBAE= T8 Awsard angle seen on diagram
(&) £BED = 108° - 36° = 72° Bl
() LBNM = 90° - 36° = 54° Bl N
3 marks O
4. (a) Modal class is 150 - 154 Bl Qe\
2
- vi paept |
() Median _ 1405+ x5 % ,
19 M1 o 25th - 26th 57
~151.34 \#09 AR |
=15143 1 151.475
38 _g‘QQ_F
L oiar
5. @ 20428 _ 43em? &1 g
2 > Accept 45, 46, 48
4\
%
(b) 43: 1075 = 10% x 10° o i _
125 x 108 Q@Q Mi  [as follow through
1:S106=1:50000 & Al [isE H
0‘{0 3 marks
. Sin _Sin30° @@ ~
12 15 07) 1\
i _ﬂ.5x12;%4 _ X
inf = 18 : Aﬁﬂl’ﬂgﬂtﬂﬂg=b.ﬁﬂ
B=23.52-2335) W M1 [P=5358=0042358)
=180° - (30" +23.58°) i H= A0 2598
*= : M1 = 306.42
=12642 (12625
Bearingof Z from X
180" +12642 =30642° (306259 | A1 |267.8cm?whenlogused
N53°25'W e
7. Areaofrectangle = 1%.5><Iﬁ.5cm=321.?5cm’ M1  {acceptequivalent methods
Area of 4 triangles = — X 6x 4.5 4 = Sdem’ M1
2
Area of octagon = 321.75- 54 = 267.75¢m? ” 267.8cm’” when log used
3 marks
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k.\bhmzéxlzxgxs

M1
= 216cm’ Al
2 marks
B. Korir Wangari Hassan
% Exéx or —x -.?—’g—l.x or Ml He can use number instead of unknown!
5 4 10 2 4 trials and errors accepted
_ 3
Pl e 11_"{“1_:} i | Korirwhogave= g
4 10 8 Hassan= _x
3
= Bark = 2 x~ 60000
3 3
Ex—;{;x:ﬁﬂ{ﬂ{] BT x:%j_%x+§x+_x
4 marks oY e
o.(s) 4p+6b=66 d
2p+5b=5] M1
A4p+6b=2066
dp+10b =102
4p = 36 o
b=9 Al 4
p=3 %’ i
(b) Let the number of pencils be x MR |
3x+9(x+4)=228
12x = 192
x=16 Al
] L 5 marks
11. Gradiani of a 1 (perpepndicular) fine =2
Eguation ofthe line Bi
_}""" -2
x—-2 Bi
or
=Zx-3
}"- _'Z* 2 marks
fi2. Distance covered =?5x,t_%_ Allernative
60 RV=95-75
=15km Bl =20 Mi
-15
Distance covered by taxi — * =
75 9%
ow BX15 ML 13,0 Mi
20 20
x=71.25 Al D=71.25 Al
3 marks
3, o o Alternative
A:ExEXSSmlEﬂ M! h:jSinﬁ[]=5g— M1}3rd side = 8.66
| A=Lx5x53 S apply
=—x5x5x0.866 Mi 2 2 M| Hero's formula
: 253 Al
=10.825(10.82) Al 4
3 marks
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i P-mr
x= 5
1Py Bl Ali nuinerical value forn
Area of sn'anglr::=—(-——)
20 2
=%{P—m‘]2 BI
Area of semi circle =~%an
'i‘+z1tillz=!|z.".'=u=lm‘:’+-l-{l"—-m':r)'z Bl
2 8 3 marks
rﬁ. §-2x<dx-9=> 13<6x
13
:ﬂ‘*g- < X Bl
4x-9<x+ 11 = 3x<20x
20
e Bi c)oé\
Integral value of x = {3.4, 5, 6} Bl &
Smacks | O
16, g qual share = L x 2 x 46800 = 1 B1 1R
i 4 100 {;A'b
Remainder = %%x 46860 = 4118 \15’%@
Share in the ratio of contributions s\@@
=14 41184 & M
40 &
=14414.40 X
Total share = 1404 +14414.40 ¥
=15818.40 Q)@ Al
oS S marks
r"! ] 1 L]
a7. ABC ALE'C - -_r
:’u 1‘}24:_ 1 6) . Accept tethod of drawing
-1 oj{1 1 -5@?&2 % 21 -
Co-ordinates of jsiige
A'(1,-2), B, -4) C (6, -1) —
[%e) JINEKS
f&. No Log
123 0.0200
0.0089 3.9494  + Ml 1Al logs comect
2.0393
_1.8839 - M1 lcorrect attempt to add and subtract logs
4.1554 + 3
6+2.1554 5. .. M1 lcorrec attempt to divide by 3
Expression = 0.0523 Al
4 marks




9. Lety=5

P-6p+5=0 Mi correct quadratic
(y-35)(y-1)
5'=5%and 5%=5* Mi At least one form quadratic
=>x=]orx=0 Al for both values
4 marks
22
= 2
() Let slanting length cone be be L bl
L-8_35 Mi
L. 42
L =48m |
Curved area of frustum i
22
= =-(4.2x 48 -3.5x40) o _{mgj 5] =193.6 1
A o i
=193.6¢m’ qhmaﬁve o I
; (i) Hemispherical surface area N !
i
'_";—x-l-‘}xg;leijxlﬁ Ml ““"‘ ?§‘” 45 t
; Al ’;
= 77cm* & 5 i
) Ratio of 81.51:326.04
{o) W0 olarca= s bl Q\)..c“z}‘?xjﬁ 35*2,4_2;,:47 '
= % [
Q .
Rati oflegtia=', 1:2 & =77+110.00=187.88 |
Radius of base = —- @* 187.88 + 192.6 I
=72 lcm > Al |
Vﬁ\ 8 marks |
24000 C Mi 1
2. (@) Cost/t = @
22. (a) Cost/ton/km ST, Qer |
Kimani receivad Q)@\' E
24000
ks it 49
! 28 x 48 * M |
@ = 84,000 Al
M1
) Profit =84000~-""x3000
O 8
= 48,000 Al
24,000 48 x 84
.(e) Achieng received %-:-x24.ﬂ{]{}= 72,000 M! 28xag o
TR St 100 ML, Al
5po 72,000 x — = = 50,000 —5—=>
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o7

i?na'ge Af B! Cl D’ K%
line v=-xdrawn Q@
Image A"B"C"D"

>
A" (1,-2) BY(7,-2) C" (-558) D7(-3,4)
Image A" B" C" D" 0
A" (-1,-2) B" (-7, Qg@’"

'(-5,4) D7(-3,4) |

Half urn centre @ i enlargement st- |
(0, 0} 6\0 Bi centre of enlargement (0, §)
\G& § marks
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